












 
 

 

 
          

 
 

 

17 35

18 17

35.0 +37.0(1 )=35.5 =0.75 

0.75

(b)

2 2

(a),(d)

(a),(d),(f)

0.10 100/1000 58.5 0.585 

0.585

0.10 100/1000 2 6.02 1023 1.20 1022 

1.20 1022

100mL  

100 

0.585/(100 1.00) 100 0.585 

0.585 %

1 2

[H+]=0.05 2 1.0=0.10 mol/L

pH 1

 mol

 

0.05 2 100/1000 +(0.025 20.0/1000) 100/10 

=(10.0 5.0)/1000=5.0 10-3 mol 

22.4 5.0 10-3 0.112 L

 0.11 L

 

  

 

 



 
 

 

 
          

 
 

 

A:  

B: C:

    

     

      

      

      

  

(c),(d),(f)

(d)

8.0/16.0 0.50

0.50 mol 

0.50 6.02 1023 3.01 1023 

 3.0 1023

8/11.2 0.714 

0.71 /L

5.6/22.4 0.25

0.25 mol

 

0.25 2 18.0 9.0 

9.0

5.6 L

5.6L

2.7L

2.7/22.4 1/3 22.4 0.90 

0.90 L



 
 

 

 
          

 
C  

 

 

a

0.50 44.0 22.0 

22

22.4 0.50 11.2 

11 L

44.0 0.5/1.5 28.0 1.0/1.5 33.3 

33

+

1000/56×1/2×160 1429  

1.4 kg


